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Question 1
Question Type: MultipleChoice

What does the failure analysis tree in Maximo Asset Performance Management (APM) best represent ?

Options: 
A- a neural network containing interconnected group of nodes, similar to the vast network of neurons in a brain

B- a chart in which the values of the attributes are plotted along two axes, and the pattern of the resulting points revealing any

correlations

C- flow-chart and structure where internal node represents an attribute, the branch represents a decision rule, and each leaf node

represents the outcome.

D- structure where an internal node represents an attribute, the branch represents a decision rule, and each leaf node represents the

outcome

Answer: 
D

Question 2



Question Type: MultipleChoice

During a regular inspection, the vibration meter is causing a bad health score, what action should be taken from the Reliability Engineer

Work center in Maximo Asset Health Insights (MAHI)?

Options: 
A- generate a job plan

B- create a change request

C- create a work order

D- change the PM schedule

Answer: 
C

Question 3
Question Type: OrderList

Select all that Apply.



List the following maintenance practices in order of maturity (least to most):

Answer: 
Condition based maintenanceReavtivate maintenanceTime based maintenancePredictive maintenance

Question 4
Question Type: MultipleChoice



Which industry solutions are supported for Maximo Anywhere?

Options: 
A- Calibration, HSE, Oil and Gas, ACM, Aviation, Nuclear

B- HSE, Oil and Gas, ACM, Aviation

C- Calibration, HSE, Oil and Gas, ACM

D- Calibration, HSE, ACM, Transportation, Aviation

Answer: 
B

Question 5
Question Type: MultipleChoice

In addition to persistent database fields, what other fields can a user add to a Query Based Report (QBR)?



Options: 
A- non-persistent fields

B- domain value

C- alias fields

D- calculated fields

Answer: 
A

Question 6
Question Type: MultipleChoice

Which is true for Non-Rotating items in Maximo Enterprise Asset Management (EAM)?

Options: 
A- they cannot be returned to inventory



B- their value can be increased by repair

C- they are consumable

D- they cannot be contained within a kit

Answer: 
A

Question 7
Question Type: MultipleChoice

Which two circumstances would be recommended using a Snapshot package to migrate data?

Options: 
A- when there are few or selective changes

B- when changes are made to a single application

C- when the changes are made by specific users

D- during the initial data load when setting up an environment



E- when there are many changes at the same time

Answer: 
C, D

Question 8
Question Type: MultipleChoice

If the ITEM table in Maximo contains translatable columns, what would be the format of the translatable table in the database?

Options: 
A- L_ITEM

B- T_ITEM

C- A _ITEM

D- LANG_ITEM

Answer: 



B

Question 9
Question Type: MultipleChoice

Which three are Meter types in Maximo Enterprise Asset Management (EAM)?

Options: 
A- Dial

B- Continuous

C- Characteristic

D- Digital

E- Gauge

E- Pressure

Answer: 
B, E, E



Question 10
Question Type: MultipleChoice

IBM Asset Performance Management for Energy and Utilities provides a custom data model based on what standard?

Options: 
A- Common Information Model

B- Utilities Data Model

C- Electricity Utilities Data Model

D- Data Model for Energy and Utilities

Answer: 
A

Question 11
Question Type: MultipleChoice



Which two ways can Weather data impact an Asset Health Score?

Options: 
A- Score can be impacted by humidity.

B- Score can be impacted by the weather forecast.

C- Score can be impacted by the season.

D- Score can be impacted by temperature.

E- Score cannot be impacted by weather.

Answer: 
B, C



To Get Premium Files for C1000-047 Visit
https://www.p2pexams.com/products/c1000-047

For More Free Questions Visit
https://www.p2pexams.com/ibm/pdf/c1000-047

https://www.p2pexams.com/products/C1000-047
https://www.p2pexams.com/ibm/pdf/c1000-047

